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Question Number : 1 Question Id : 7150532602 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

One of the following is the secondary motive
@reflerdehl Ush gZIH g 318
Options :

Achievement motive

1 v mm‘%q

Hunger

Heh

2. % im

Avoidance of pain

. aGaT T

Elimination of body wastes

4 5 WO e FIgeT TTRoT

Question Number : 2 Question Id : 7150532603 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0



Correct Marks : 1 Wrong Marks : 0

“Development i3 a never ending process” identify the relevant principle of

development
"faerg & Fefigr o Fuundy gfekar s fawm efid aog Ao
Options :

Principle of Interrelation

1 % R e

Principle of Continuity

Principle of Integration

Principle of Individual differences

4233?%6?%@33

Question Number : 3 Question Id : 7150532604 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
The second stage in Erickson’s Theory of Psychosocial Development is

Options :

Intimacy Vs Isolation

1. ¢ \



Industry Va Inferiority

5 % 3T Ta%cE Hisivaar

Intiative Va Guilt

3.wwﬁwfa1wrﬁ?rqur

Autonomy Vs Shame

4.¢H1?IH?IT%WIW

Question Number : 4 Question Id : 7150532605 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0
Correct Marks : 1 Wrong Marks : 0

According to Carl Rogers, behavior 1s influenced by
el WoT=aT A, dcl=rdr 961G 95dt
Options :

Genetic make up

Self-concept

2. o BT

Unconscious desires

3, % TI

Environment

4 % SEHTEIT



Question Number : 5 Question Id : 7150532606 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0

From the following. identify that predicts the future attainment of an individual

with adequate training

TeIae, R IRV e egewdedr afavade Sredn e e
Hioar
A) Aptitude

PRI

B) Achievement

qrey

C) Attitude
Eal

ChDDSE the correct answer:.

AT 3aT fHasr
Options :
A & Conly

e Pad A& C

C Dlﬂjr
5 % PEd C

A only

3 PETA

4 % AB&C



Question Number : 6 Question Id : 7150532607 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Army beta test i3 an example for

AT et e 36T 38
Options :

Verbal group intelligence test

- i@ a1e Jefoaar Tl

Non-verbal group intelligence test

Zdﬂi—#fﬁ“ﬂﬂ??ﬁww

Individual verbal intelligence test

Individual performance test

4.waaﬁa$$mﬁ]ﬂaﬁcrﬁ

Question Number : 7 Question Id : 7150532608 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

One of the following 1s NOT an example of Projective Test of Personality

Options :



Rorschach Ink blot test

ATT =& selic &

Thematic Apperception test

5 » s arom Al

Children’s Apperception test

3ﬁﬂﬂ1—tﬂuﬁﬂﬂamvﬂ

Minnesota Multiphasic Personality Inventory

4'¢;ﬁﬁ@?ﬂﬂﬁﬁqﬂﬁﬁ$ﬁﬁﬁﬂéﬁ"{ﬁ

Question Number : 8 Question Id : 7150532609 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0
Learning 1s formation of ‘connection between stimulus and response’ in the

nervous system, according to

= FAN, R0 RO AoEEIA Jdoie A0 Yidwe Aredrdiel J6 aar
O

Options :

Thorndike
1.« AidAsSH

Bandura

2. % IER



Piaget

Kohler

% TR

4.

Question Number : 9 Question Id : 7150532610 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
In this schedule of reinforcement, an individual doesn't know when he is going

to be rewarded

HoAAUTEAT AT dTTAHHEY, TEICAT Saeiien el Jaig [HBUR 3 § Aliga
A8d

Options :

continuous reinforcement schedule

1 % Hd ASARIUT dDTTAH

fixed interval reinforcement schedule

fAfRad AT AR dDTTAE

fixed ratio reinforcement schedule

AT aoNaT ASCAROT darah

variable reinforcement schedule

Iiaceird Addehd0T dblIad
4.v :



Question Number : 10 Question Id : 7150532611 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Human learning 1s always purposeful and goal directed and 1s essentially based
on one’s cognitive process 1s the essence of

A FRIETOT ¢ e Seguqut 3T e R 3 3T Hore: vae@en
HAECHS Ifdat MR 3.

Options :

Trial and error learning

. ﬂ]ﬂ'ﬂfﬁaﬂfﬂﬁ‘iﬁﬁw

Insightful learning

ST et

(Classical Conditioning learning

3 % AMEATT shf2erfeiar ferefor

Operant Conditioning learning

4 % 3O ST feaTor

Question Number : 11 Question Id : 7150532612 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0
Correct Marks : 1 Wrong Marks : 0

The propounder of "observational learning” 1s

‘iRToncas RET O Yyads Hed



Options :

Bandura

R2A

Carl Rogers
5w IOl U

Vygotsky

GIEElIIE =1

3. % =

Pavlov

4 % SEeleg

Question Number : 12 Question Id : 7150532613 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

According to Ebbinghaus, the amount of material forgotten after a lapse of

20 minutes 1s
uidagiaear #Ad, 20 Afdc=ar siauaay Aaeear G 9 0T e

Options:



66%

Question Number : 13 Question Id : 7150532614 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

Learning of Hindi helped the student to learn Sanskrit. This is
RS Riea= fae@maier Thd RIFvar #igd g, & 3%

Options :

Negative transfer

AFRIcHE gEdialor

Zerg transfer

AT FEATHUT

Lateral transfer

dTslehsiel gEcicoT

Positive transfer

v TPNICTE il

Question Number : 14 Question Id : 7150532615 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0



In the teaching learning process, identify that indicates child centric

environment

s fRIRoarear Sidd, aTerhfad ardrader Jd Fd o ear

Options :

Teacher transmits the knowledge to students in the class

- fereTer aarcier facarden e garfiia #ad

Students passively receive information from the teacher

- faeanil fshrue ReTrerga Afgd gdrd

Students engage actively in the classroom activity

3.#ﬁm&ﬁamﬁ?ﬂﬂﬁmwmmﬁ”ﬂmqﬂ?mﬁﬁﬁm

Teacher giving information from the textbook

4 x TOATETHIGE Hfgct GUIT fR1eTe

Question Number : 15 Question Id : 7150532616 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

An individual with an IQ of 40 1s conaidered as

40 JeEdid Helcl sl Aledell ATd
Options :

Idiot
1. %

2. ¢



Imbecile

gafder

Moron

3_wma

Profound

4, % 9TPISS

Question Number : 16 Question Id : 7150532617 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
According to Bruner, in Iconic stage of Cognitive Development, things or events

are l‘E‘pl‘E‘SE‘H'L' ed as

el I

Options :

mental plctures

1.+ K

actions

o % foham

symbols

3. BFE



language

4.3334?5“

Question Number : 17 Question Id : 7150532618 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

‘Guidance’ 13 a process of
‘ANGAT & UF ufhar g
Options :

glving 1nstructions to the child

Heell g aor

teaching ethics to the child

Hellell aifciehdl FRIehaor

directing the child to behave in correct manner

Helrell A7 Jcllel anoary @RI w0y

assisting child in making wise choices

, AT fAasT FoAra A Jod T

Question Number : 18 Question Id : 7150532619 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0



One of the following is the characteristic of Authoritarian leader

@reiierdehl T gHARMEr Acard dfkisca 376
Options:

leader instructs members what to do

_— mmmmw:@maﬁ

group members tell the leader what to do

, x T HCH AT F AL T WETAA

leader discusses with members for doing any activity

- HIOTATET 3UhA HLOAHTSN AT el T=T FLar

leader works together with members of group

. Il IETdiel AEEATHE U 1A Hidl

Question Number : 19 Question Id : 7150532620 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

Right to Education Act, 2009 received the assent of President of India on
fRI&ToT g rer, 2009 @ ARATAr Tscdardr SHal 9ed Saelr

Options :

26th August — 2009

26 HEEE - 2009

2.¥



24th January — 2009

24 FAEENT - 2009

26th September — 2009

26 gesT - 2009
3, %
26t October — 2009
26 3ieeEaT - 2009
4. %

Question Number : 20 Question Id : 7150532621 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0
Correct Marks : 1 Wrong Marks : 0

One of the following is the simplest form of thinking

@reiterthr v faar s gata 9T 9=hi 318
Options :

logical thinking

1 % difeher faaR

creative thinking

 gorerefer AR
2. ®

concrete thinking

3.*6/61_5



critical thinking

R faar

Question Number : 21 Question Id : 7150532622 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0

Retention time 13 extremely brief in

RO d& 3icdd dieied 3g
Options:

episodic memory

vfaEifEs Aed

photographic memory

Hiciathe HAL

PATranorm al m emory

Fellfeher T

Sensory memory

HAGT T

Question Number : 22 Question Id : 7150532623 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0



Identify the correct statement with regard to ICT based learning

ICT 3menita RIeomEeHd deg faene sitoar
Options :

It supports the learners in the learning

1.¢g‘fa‘lawn?aiarﬁmmmﬂaaaﬂ?‘r

It replaces all other forms of learning

- & Sa{ 99 Year R Sew gd

It 1s equivalent to all other forms of learning

- & Sd¥ Od YA Refonear St g

It 1s a superior form of learning when compared to other forms of learning

4% S YAl fRIGTUITEAT defeid @1 Ueh 3cehte YR 3Tg

Question Number : 23 Question Id : 7150532624 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0
Correct Marks : 1 Wrong Marks : 0

Identify. which of the following is NOT a purpose of developmental tasks

siioar, Telerdd Fiorar Facas FEmEr 3e62r A0
Options:

They guide parents what can be expected from the children at different

ages

o TRl ARG HIAd T AT GAFIEI Helldsa A Y& del
1 % O3 AW



They help teachers to segregate children as per their development and
asslgn age appropriate tasks
o Rigerian FHerea AFMEER 9 FUAE AT JAHER F1 fbged

codUdld Hga <hddla

2. &

They serve as motivational forces for children to learn the expectations of

social groups

o HOIHS! WA ACTedl HUET S0 HUATHIS Yok el FEU HH
3. % <Idid

They help to provide opportunities to children to learn and adjust

4w o Hellelr fRUATEr 30T Sfovdel BTl el Yelel vl Hgd Hldld

Question Number : 24 Question Id : 7150532625 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0

This indicates that the child 12 NOT ready to learn

& ﬁnrﬁd &dcl hl el farpoaTy OO ARr
Options:

Disinterest

| o 3ETER

Interest in learning

2. %



Sustained interest

,  UEd ERET

Intrinsically motivated

4 % Hiafeaor 94fig

Question Number : 25 Question Id : 7150532626 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0
Correct Marks : 1 Wrong Marks : 0

From the following statements, identify the correct statement with respect to

mndividual differences among identical twins
wreilel Tauiae, HAR Sfedl Helaeiiel dafdde Thedr Hadd A9y fGum
FHio@r

Options :

They are same genetically and environmentally

_ o Serdifeie SMTOT GEaRuTeseAT HAW 3gd

They are different genetically and environmentally

- d 3feAqiferh 3707 qaiaeoTesear foest 3med

They are same genetically but may differ due to environmental influences

, o O SEARIFESCA FAF Jed W TR0 wemaigd fee 3 ahara

They are different genetically but same environmentally

4w d Feaifelehesean ¥ea 3gd Wd cdid arcrador §A 3



Question Number : 26 Question Id : 7150532627 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

One of the following is NOT a guideline of (NCF) — 2005
Grefierd < v (NCF) — 2005 o ApRfgeis oaed A%
Options :

connecting knowledge to life putside school

MBATG LTSl SHaaArei 7R S8t

connecting knowledge to four walls of class room

» G @reiredr IR fada e Sisor

making examinations more flexible

qileTr 3ifee cafks gag0r

learning 1s shifted from rote methods

4w TRIOT TCoT SerdeE gefaedr S

Question Number : 27 Question Id : 7150532628 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0



Among the following. which act of the teacher DOES NOT help in improving

divergent thinking among learners
@refierdeh], Riaterdt Hiord Fcli faeardime e fqarerel gurvam #gd
I =gl

A) giving the activities that have scope for abstract thinking

HAG TR a1 3rEelel 395A CUT

B) asking the questions that have uni-directional responses

UhiGecA® giddG 3t 92 e

C) asking factual questions

d2ATcAS 92 [aarul

D) giving assignments to bye-heart the material

AT WO ST Gur

Choose the correct answer:

A9 3T feasr:
Options :

ABC&D

A.C& Donly
. Had A.C& D

B. C & D only
3¢ PABC&D

A.B & D only

4 % Fad A, B& D

Question Number : 28 Question Id : 7150532629 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0



Correct Marks : 1 Wrong Marks : 0

The purpose of using the Case Study Method in knowing about an individual or
nstitution is

TEICAT Shaciidege fohdl TEATCGel HAVE HUARIE JiUT 3eade (F8 T3
Yexrd araiuaTd g g

Options :

to get quick results

STeie, 9o Fofavaradr

to study in depth

5 o @l 3O H{0T

to assess only weaknesses

e FHAGIIIUNT Hedlehed HI0T

to understand quickly

qeehel HHSA HOT

Question Number : 29 Question Id : 7150532630 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

Childhood is called the ‘ideal age’ for learning motor skills. Identify that DOES

NOT reflect the zaid statement

ITET9UTell Hled Hieed Rievad ‘Heel a7 39 Fgodd. alid faue sfafefag
T ARl al T 3o

Options :

1. %



Their bodies are more pliable

O AR AT ddids 38

They are more adventuresome and eager

- o i |gdr 0T 3cg 3ied

They enjoy repetition and practice with enthusiasm

5w O AU 37 gald ST ICHgE 0 FAd

They learn under pressure created by the adults

4¢m%ﬂméﬁwmﬁﬁm

Question Number : 30 Question Id : 7150532631 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0

Reducing the play time to children because of their low achievement in

academics 1s an example for

Helioll AeTf0T G FAT FATAY Foarad TITES WHvarr da HHT FOT §
Teh 3aTeAUT 318

Options :

Negative Punishment

1.¢Wﬁm

Pozitive Punishment

5 % GERICHF TR



Negative Reinforcement

AFNICHF HAAHLOT

3. %
Po=sitive Reinforcement

4. % I S
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Question Number : 31 Question Id : 7150532633 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0
ReprAT &1 Sdiel ‘AR graddr a1 didel il HIT Faarad 3g?
Options :

o T@ar a1gem 38 ot ATE 9igdr Id AR

Zwmhwmﬁmﬁ.ﬂmaﬂmwwwﬂﬁ

_— faar el FT-arg AT9eaTdr ¢ J39d ARr

L Repream f&RITT 90T ANVRH 3T TAT 918 bl

Question Number : 32 Question Id : 7150532634 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum



Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0
I fohell a=ard 9id 39elvIRT o 9id & Tdehd B3 Uhd dAlal?

Options :

P CIRCE R D I CER I

- SITEd dofel ITCUN=AT HUTET o Tded Bl s 38d

ST o fashd SUIeT Wasd aHedH D

3. %

L did 3dcieardd o fashd =07 carelm 3fdsd =gl

Question Number : 33 Question Id : 7150532635 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
garenr =1 haa ufgel aaar?

Options :

- o Tohell eear 9id 39elel 39d o

- ¢dlel 9HchI el A9d at

3\_/141@ ANSET Tl It SATedT T al

. Tl AT el J9d o



Question Number : 34 Question Id : 7150532636 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

Options :

1¢m1m@$msﬁaaﬁﬁg:a,ammﬂaﬁﬁm

, ., <ol o of difgs @ o fAad

- A SENIel AT Id

s COTEATD MTE Garatel AT died

Question Number : 35 Question Id : 7150532637 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0
Telell [T ATETAT ST Graddl arem 3 $Hg?

Options :
| % el TG FgUTel <9 3ATg

S % @A T@Er AFday 9T 91 grdadr
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oe Feich 36 o 40 I I Wre feeredr saraTea AU AT 9 fHag e

TR UG 51 IR A SAdl; W a6 Fa0T w1 ? a¢, 1 egrem 39 A 308
3T, FA=T BT AR TEhdlel e 3776, FAlal IHLeel &1 3o Tehdl 3716,

Sitgetrell Ted ORI Yodeh [d=Il #F0Tel dg 316 396l ST =gl @ 3cilal &
eI, § Hgde TiEel. HAGTE W07 &4 ad, d €efde Hidlel. HATSIE! HAv[d
Fell T, FA g:@rn 8T 31 usmr, o Adde AT, § A1) dgd A
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Sub questions

Question Number : 36 Question Id : 7150532639 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0



Correct Marks : 1 Wrong Marks : 0
S et BIVATHTST ATl Il 31e?

Options:

1% e faa 9 gIEsel

- diarel TadIT @ A T

5w ST 3M@H =M=t e

4w 3AIdIUUT T G TEET

Question Number : 37 Question Id : 7150532640 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0
@relierdehT HIoTa Taens Iarani GEId A7

Options:
- dg T ARG HEhdE 3R 31,

Zvﬂﬂﬂﬁﬁ?ﬁiﬁﬂmﬁﬁﬁ.

3 % Taa Adsids &drl.

4% Ucdere fo-mandft same.



Question Number : 38 Question Id : 7150532641 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
I 3AATd HIOTAT ASEId Aged dioieiel g7

Options :
- aTodd Hgod

ga@rar AfgAr

2. %

Taar=r AfgAr
3. ¢

, Mﬁﬂwﬁqwﬁmm

Question Number : 39 Question Id : 7150532642 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
HRC HEHAld 0T NSl TAT G

Options :
. faar a qresdr

, gATSECG e YA 30T ohod

3_¢3iﬁnt%—£ra1ﬁmrm



g AfgAr

Question Number : 40 Question Id : 7150532643 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0
Options :

1 s 3MISAT SRIFATHT ol wAdT AT earEt
5 % ST TGS 3T ATadd g
., PUAUTRITAT ATIATGST AT g §I0T 0T

3

39T FATSTECG el dooHo el

4, %

Sub-Section Number : 3
Sub-Section Id : 715053132
Question Shuffling Allowed : Yes

Is Section Default? : null

Question Number : 41 Question Id : 7150532644 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0
THRI’ AT 3ieiehl e Aeqrar 37eeh 372 FHIUTaT giser?



Options :
- il leATaT HAg

z.dﬂggﬁmfﬂﬁ

3@51??611%—:Hﬂﬁ3mﬁr

ﬁﬁﬂi’rmaﬁf

Question Number : 42 Question Id : 7150532645 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0
Ueholehial AT ATl 379 FEUTal —-

Options :

1. % Ush ol

2. %

UeheT TEUTHT

4w STERTET ST & SAUTRY

Question Number : 43 Question Id : 7150532646 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum



Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0
AMGHUH AT SI90T A TG=11eT il HI0NAT Hhald g FHa?

Options:

A Sgferdet

Question Number : 44 Question Id : 7150532647 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0
Correct Marks : 1 Wrong Marks : 0
"giaT |8 3T a1, |ode AU sgledn " AT 9ed i Siumear ?

Options:

1 & LA IR

, x T SIfer

3.

4_wﬂ?ﬁlﬂfﬁr



Question Number : 45 Question Id : 7150532648 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
Options :

| % 3 -3

Question Number : 46 Question Id : 7150532649 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
gl 3MeATel Al RieTeh faearediar gea [aarRvard R — § 318d

Options :

- faearedi=T Heresr A5 A3

- facareiar fava fradd TASTen 3 Irar 9Sdial 9ot

- fac@r2iaT [or U 9 qEiciel gRIR Aol fo¥as HoT



4w TG Sed HT0r

Question Number : 47 Question Id : 7150532650 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0
Correct Marks : 1 Wrong Marks : 0
ddeid URUT g3l R0 § —— 378

Options:

elh[{cHb

1. %

Question Number : 48 Question Id : 7150532651 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0
Goterlieldl FguTal &g ?

Options:

| CTF A TEEA Tedr



a&d 3cdIcsT 0T

Question Number : 49 Question Id : 7150532652 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0
darg TaUadel AT AT HIAT —— PRIl SAEd Hged fgel difga.

Options :

HolellcH

1.% =

IEEELIMIREED

Question Number : 50 Question Id : 7150532653 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
ST 37eAT9eATd T Aoauararsr —- far 31g.



Options :

1% ACATERIOT FIAT AT

JEJTEIT‘IBF:FW

| 3 Sgee z st

4wﬂﬂiﬁm3ﬂ?ﬁ

Question Number : 51 Question Id : 7150532654 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0
Correct Marks : 1 Wrong Marks : 0
qeeq kTl Hidele derdl 3dedes T8l HROT cAHD ——

Options :

| w ST gecEr Aol ared.

5 % q{ieT qﬂ?—]ﬂ &l JOTTcHDA dred.

3JWW%&WW.

4@#@%%%3@.

Question Number : 52 Question Id : 7150532655 Question Type : MCQ Option Shuffling : Yes Is



Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
‘GId RO AT AIF9aREr 32 F{oTal—

Options :

GRGIGE

1. %

Z_Mm%?raﬂ?aﬁsqmaﬁr

3 THT TR

gld a¥ +Ior

4. %

Question Number : 53 Question Id : 7150532656 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0
Correct Marks : 1 Wrong Marks : 0
‘1G] THRCT §1 U A Tehelllidl 3907 I el — A7 [RIsAed 9o el

Options :

. =1 giea J&r

1.



Question Number : 54 Question Id : 7150532657 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0
‘TSl hell HUOT FAC &1 39dl SHIomar?

Options :

ad SEe

1. %

Od Udhardl

Question Number : 55 Question Id : 7150532658 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
FST AT Seteh 3R —— T 3fied 31e

Options :

1 % 3ouTaRET fhofe

fasurera s



HOUTGH THTHL WIsielahl

4% facamer si@er

Question Number : 56 Question Id : 7150532659 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0
IR 93 FEUTSid -

Options :

ERIGHUEE CEIRCIGIRED!
1.9

&l o

IEFHEGEHED

HEAT hocdishi

Question Number : 57 Question Id : 7150532660 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
g o SR A YEET § TEAh — AT IHRIT AlSd

Options :



qard 9ol

Question Number : 58 Question Id : 7150532661 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0
Correct Marks : 1 Wrong Marks : 0
‘T §T @91 — 3§

Options :

| w e

Question Number : 59 Question Id : 7150532662 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0



Correct Marks : 1 Wrong Marks : 0
‘Hed dIod Sididel’. AT derTdT 9497 Hiodl
Options:

Ol

1. %

Question Number : 60 Question Id : 7150532663 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

=T AT Slegl 9¢ 3720T=ar e8¢l Agdrdl Fg0Tal TH ol 3adid
>rell ——— FgoIdid

Options :

1.9 ey

zwaaamﬂ"smmqm

3, % TR U
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Language II English

SectionId: 71505380
Section Number : 3

Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 26
Number of Questions to be attempted : 26

Section Marks : 30

Enable Mark as Answered Mark for Review and

Clear Response: Yes
Maximum Instruction Time: 0
Sub-Section Number : 1
Sub-Section Id : 715053133
Question Shuffling Allowed : Yes

Is Section Default? : null

Question Id : 7150532664 Question Type : COMPREHENSION Sub Question Shuffling Allowed :
Yes Group Comprehension Questions : No Question Pattern Type : NonMatrix Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Question Numbers : (61 to 65)

Question Label : Comprehension



Read the following passage and answer the questions from 61-65. Choose the correct
option for each question.

The curiosity which makes us come out of our room and leave our study when we hear
uproar in the street holds mirror to our anxiety about our fellow beings, though verging on
sentimentalism. Apart from that, this reduces the tedium of work, breaks the spell of boredom
and engenders in us new energy, and we go back to our work with revitalized interest.

How curiosity develops our personality and intellect can be best known from the study
of Wordsworth's and Shelley's lives. Wordsworth's curiosity led him to love nature. Whether
it was the enigmatic sound of the cataract or the rustling of the leaves he fed his senses to
satiety and gave us wonderful nature poems. Shelley who used to make startling experiments
like an Indian magician expressed his love for what was not traditional. And his poems and
life are only a vocal expression of hus fondness for the unusual curiosity of Keats kindled by
his furst reading of Chapman's Homer made of him a poet of unique imagination so much so
that the sight of a 'Grecian Urn' could inspire him to write a wonderful ode.

In fact much m literature and art is curiosity translated into singing words, immortal
characters and wonderfully eloquent pigments or stones. It 1s, however, a different thing
whether their curiosity to know and understand and to unravel the mysteries of human nature
was 1dle or otherwise.

Sub questions

Question Number : 61 Question Id : 7150532665 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
Identify the INCORRECT statement as per the passage.

Options:

Curiosity reduces the tedium of work, breaks the spell of boredom and engenders
1N US NeW energy.

Curiosity develops our personality and intellect.

Curiosity is translated into singing words, immortal characters and wonderfully
4 cloquent pigments or stones.

4.+



Curiosity may be the one which does not help us know and understand the
mysteries of human nature.

Question Number : 62 Question Id : 7150532666 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0

Identify the word from the passage which means ‘mysterious’.
Options :

1 % fuent

enigmatic

3 % immortal

cataract
4,

Question Number : 63 Question Id : 7150532667 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

The author of the passage says, “Apart from that, this reduces the tedium of work...”
Identify the meaning of the word “tedium.”

Options:

1¢ dullness



curiosity

attraction

mystery
g% T

Question Number : 64 Question Id : 7150532668 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

“Whether 1t was the enigmatic sound of the cataract or the rustling of the leaves he fed
his senses to satiety and gave us wonderful nature poems.” Whom does the author talk
about here?

Options:

Chapman
1. %

> % Keats

3 ¥ Wordsworth

4 % Shelley

Question Number : 65 Question Id : 7150532669 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0



As per the passage. who 1s the author of the literary text 'Grecian Urn'?
Options :

Chapman

5 % Shelley

3 % Wordsworth

4. Keats

Sub-Section Number : 2
Sub-Section Id : 715053134
Question Shuffling Allowed : Yes

Is Section Default? : null

Question Number : 66 Question Id : 7150532670 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

The old woman to the temple every day.
Choose the correct option to complete the sentence.

Options :

came
1. #

5 % has come

3 % come



coInes

Question Number : 67 Question Id : 7150532671 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

Choose the correct word to complete the sentence.

Presently, the problem 1s that industries set up in the backward area because of
the concessions offered there.

Options :

1 % be

are

4. % Wwas

Question Number : 68 Question Id : 7150532672 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

After their graduation, his daughters are searching jobs.
Choose the correct word to fill the blank.

Options :

1 ¢ tor



oOver

01l

in

Question Number : 69 Question Id : 7150532673 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0
Correct Marks : 1 Wrong Marks : 0

Yesterday, I met him 5 PM.
Options :

1 % SO

Over

of

at

Question Number : 70 Question Id : 7150532674 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0

They were for the bus, when the accident occurred.



Options :

1 = wait

waited

waiting
3. ¢ =

4 % waits

Question Number : 71 Question Id : 7150532675 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0
Correct Marks : 1 Wrong Marks : 0

Choose the correctly spelt word from the given options.
Options :

restarant

restaurant
2. %

restaurent

restraurant
4. ®

Question Number : 72 Question Id : 7150532676 Question Type : MCQ Option Shuffling : Yes Is



Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0
Identify the correct Passive Voice sentence for the given sentence.

‘The two warring groups announced ceasefire’.

Options :

1 ¢ Ceasefire was announced by the two warring groups.

Ceasefire announced by the two warring groups.

Ceasefire has been announced by the two warring groups.

Ceasetire had been announced by the two warring groups.

Question Number : 73 Question Id : 7150532677 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Choose the correct option to complete the following sentence.

The son likes going for a walk,

Options :

do he?

1. %

5 % don’t he?

3 % does he?



doesn’t he?

Question Number : 74 Question Id : 7150532678 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0

Identify the part with an error in the given sentence.

The children go toschool on bus.
A B £ D

Options :

Question Number : 75 Question Id : 7150532679 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0
Correct Marks : 1 Wrong Marks : 0

It 1 the Prime Minister of India. I would eradicate this problem.

Choose the correct word to complete the above sentence.
Options:

Were
Rdi



wWas

3;5315

will be

Question Number : 76 Question Id : 7150532680 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0

Identify the verb form to complete the sentence.
A: When did vou come from Delli?

B: I trom Delhi yesterday.

Options :

1 % come

2 % cOoImes

3. o came

have come
4. %

Question Number : 77 Question Id : 7150532681 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0



Identify the subscription which 1s NOT appropriate for a formal letter.
Options :

1 % Yours sincerely

5 ¥ Yours affectionately

3 % Yours faithfully

4 % With obediently

Question Number : 78 Question Id : 7150532682 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0

Choose the appropriate word to complete the sentence.

The driver 1s man.
Options:

an honest
1. %

5 % a honest

3 % the honest

honest
#®



Question Number : 79 Question Id : 7150532683 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0
Correct Marks : 1 Wrong Marks : 0

The shopkeeper feels gloomy due to the strike.

Choose the opposite word for the word “gloomy.”
Options :

1 % sad

5 % unhappy

happy

melancholic

Question Number : 80 Question Id : 7150532684 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

Choose the correctly combined sentence.
A: The passenger ran fast.
B: He could be able to board the train.

Options :

1 & The passenger ran fast. so he could be able to board the train.

The passenger ran fast, but he could be able to board the train.



The passenger ran fast, however he could be able to board the tram.

The passenger ran fast, if he could be able to board the train.

Question Number : 81 Question Id : 7150532685 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0
Correct Marks : 1 Wrong Marks : 0

The students are eager to learn.

Choose the synonym for the word “eager.”
Options:

lazy
1. %

keen

indifferent

4. % dull

Question Number : 82 Question Id : 7150532686 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0

Identify the silent consonant letter 1n the word *debris’.

Options :



2. % b
;

3. %

4.+ =

Question Number : 83 Question Id : 7150532687 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

Choose the appropriate word to complete the sentence.

The naval exercise will include a large of ships.
Options:

1% bunch

heap

3 % pride

4. fleet

Question Number : 84 Question Id : 7150532688 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum



Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0

Choose the correct option when the jumbled words are ordered.

die/ would rather/ up/ She/ give/ than/ her freedom

Options :

She would die than give up rather her freedom.

1.
5 She would rather die than give up her freedom.
3 % She rather would die than give up her freedom.

She would die than rather give up her freedom.

Question Number : 85 Question Id : 7150532689 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Which of the following 1s an open-ended question?
Options :

_— What time does the movie start?

“ What made the potter angry?

3 ¢ Why do you think that the potter 1s really brave or lucky?



Who 1s driving the car to the temple?

Question Number : 86 Question Id : 7150532690 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0
Correct Marks : 1 Wrong Marks : 0

Identify the correct statement regarding Formative assessment at the secondary level in
Telangana State Board.

Options :

The average of four Formative assessments is added as 20 % of marks in the final
1.« results.

The average of four Formative assessments is added as 30 % of marks 1n the final
5 % results.

The average of four Formative assessments 1s added as 40 % of marks in the final

3 % results,

The average of four Formative assessments 1s added as 50 % of marks in the final
results.

Question Number : 87 Question Id : 7150532691 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
Identify the true assumption of language learning.

Options :

Language acquisition is a CONsCious process.
1. %



Language is acquired not through recurrence but through repetition.

Learners’ first language plays an important role in learning of other languages.
3.¢ )

4 % All teaching strategies will work with all students

Question Number : 88 Question Id : 7150532692 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
‘Use of polite and entertamning expressions’. This 1s a feature of the following discourse

Options :

1 % Biographical sketch

Compeering
2.

3 % Letter

Essay

Question Number : 89 Question Id : 7150532693 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0



Example for ‘realia’
Options :
DIKSHA e-content

Blackboard

3 ¥ Handcrafts

4 % Textbook

Question Number : 90 Question Id : 7150532694 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

The best way of comprehending the unfamiliar passage can be achieved by allowing
learners to

Options :

use smart phone to understand the passage easily and quickly.

write the passage twice in the notebook.

guess the meaning of the words and sentences in context.
3.¢

refer a dictionary to know the meanings of the words 1n the passage.



Social Studies

Section Id :

Section Number :

Section type :

Mandatory or Optional :

Number of Questions :

Number of Questions to be attempted :
Section Marks :

Enable Mark as Answered Mark for Review and

Clear Response:

Maximum Instruction Time :
Sub-Section Number :
Sub-Section Id :

Question Shuffling Allowed :

Is Section Default? :

Question Number : 91 Question Id : 7150532695 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Identify the correct sequence of the given temperatures in the ascending order

TecdT FAM [Celedl d9AEET 9T &7 oar

(129, -16°C. 299C, 09C, 49¢, 19C, -19C, -49¢C, 169C)

Options :

71505381
4

Online
Mandatory
60

60

60

Yes

0

1
715053135
Yes

null

. 00C,-19¢C, 19C. —49C, 49, 129C, -160C, 169C. 290C

_169C, —49C, —19¢C. 09, 19C. 49C, 129C. 169C. 29°C

2. %



5 % —19C. 4%C, -4°C, -16°C, 0°C, 1°C ,12°C. 16°C, 29°C

4 % 29001670, 1276, 40,4 %. 00, 170, 490, 1678

Question Number : 92 Question Id : 7150532696 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

When it is 2 pm at ‘X’ located at 45° Eastern longitude, the local time of a place ‘Y’
located at 45" Western Longitude 1s

ST 45" 9 Y@RI T X A qU 2 awd 3, el 45 Y@
simeiedr Y fowmmdr wafas do smq.

Options:

1% 6.00 am

8.00 am
2.

3 % 8.00 pm

4% 6.00 pm

Question Number : 93 Question Id : 7150532697 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0



Identify the true statement among the following regarding the Internal Structure
of the Earth
QAT 3l Gldeiaed @relierden @ fauT siaar

Options :

The outer layer of the earth is known as Mantle

AT ARl AT IE0T 7O e

The crust 1s mainly composed of Gold and Ferrous

AT § WAL Hiel 30T BT defelel 376

The density of the material in the mantle 1s more than the density of the

material in the outer core

3TaoTIdTe I OeIaT S ImsTdiel AT SeaueT Sed 39

The outer Core of the earth 1s composed of liquid metallic material like Nickel

and ferrous

o T SE AT Teidhel SO SRR 7 LI Fefeiell He.

Question Number : 94 Question Id : 7150532698 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
As per the Geologists, weathering. erosion. transportation and deposition are

responsible for the formation of these landforms
syt aAITelehIear 77, A1 sraearedr ST game, 4y, algds 70T el Sirer
Hed.

Options :

1. %



The First order landforms

ForH shATh HTaET

The Second order landforms

Zlﬁdﬁ?ﬁuaﬂ—mﬁmﬁq

The Third order landforms

3Jqﬁﬁam1$raqﬁq

The First and the Second order landforms

4w J2H 0T A FAR sJFaey

Question Number : 95 Question Id : 7150532699 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

The Himalayan Mountains were formed by this process of
a1 gisdce TRATerT 9dd aar el

Options :

The Eurasian Plate pushing into the Indian Qcean.

1 % fie HEMRRI ahervl IR woie

The Indian plate pushing into the Eurasian Plate

zwﬂmﬁfwﬁo}tﬂlﬁm



Rising up of Lava from the Mantle

TERUTeT ofrer ax dor

Sea floor spreading

THg do 98l
4, % 2

Question Number : 96 Question Id : 7150532700 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0

Match the items given under ‘I' with the 1tems given under ‘II’

T 3icid feetear aq I sicdd Gerear awqell s[o.

I II
A) Loo 1. The cold local wind blows from the Alps mountains over
Gl France

HIededl Aot Yddiaed 9435 Tids aguiRT anl

B) Chinook . The Hot local winds that move down the Rocky
ﬁ}?ﬁ Mountains in the USA and Canada
TUHT 0T HefsTaelier Yl qeclase @iell FHUIY I807
el an
C) Mistral 1.  The Cold local wind blowing very fast in the pampas
e region of South America

GTEI0T AR TRITE Y6ed 42 Tl anr Hided
dam argar

D) Pampero 1v.  the hot and dry local winds blowing m the plains of
epmenys North India
I AR AT AR 3507 371707 $Rs TN agum
an

Choose the correct answer

T 3T feaeT



Options :

A-1v, B-1. C- 11, D-m

_ A-iv, B-m, C-1, D-11
2.

A-iv, B-1n1, C- 1, D-1ni
3. %

A-wv, B-mi, C- 1, D
4. %

Question Number : 97 Question Id : 7150532701 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

These forests are found in the regions near the equator and close to the tropics

&1 Siarel fayadreiass 0T 3807 Hicaeredl Sawedl Yeuld eaddld
Options:

Tropical Deciduous forest

- 3ISUTRicael T drei=tal Siarel

Temperate Evergreen forests

F=ATAST Helgid Siarer

Tropical Evergreen Forests

IwoTehfeaeli Ooeiia e

3. %



Coniferous forests

. TN IR SiaTel

Question Number : 98 Question Id : 7150532702 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Identify the Equatorial Crop among the following

@refierd<hr fagaddia i 3aar
Options :

Rubber

1.\'-”@?

Cotton

Tea

Question Number : 99 Question Id : 7150532703 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0



Industrial locations are concentrated at the most appropriate places where
3ileeE Torrel |ald g fowol Siga 3mgd oY

Options:

All the factors of industrial location are either available or can be arranged at
lower cost

sitcaifEe Trerd 9 gea Uhal 3UCEH 3Med fhdl AT @did ABd oI5
| U

The raw materials for the particular industry are available in plenty only

faferse SRS Fear Alel Tefd Adelsh FHIONT 39elsel 3g

The cheap labour is available in plenty only

TIET Ho[{ Berd YT YAV 39eleel 318

The transport facilities are available for transporting goods conveniently only

algcis Gfaem BeFd W0 Al digds HUAEIST 3Tt Hed

Question Number : 100 Question Id : 7150532704 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Among the following. these states of India are sharing the boundary with

Telangana State
@reieldehl, AT gl Uod deldon TsAreg 1A SAIRS did
Options :

Andhra Pradesh. Karnataka, Maharashtra and Chhattisgarh

| 3T SCRI, FeAlCH, AR 0T TAHITS



Andhra Pradesh. Tamail Nadu, Maharashtra, Odisha
31TeT 9G2T, ATTHAD=IS, HGRISE, JHifSe

Andhra Pradesh, Karnataka. Maharashtra and Odisha

- 3TeT YR, Feilcd, HgRIST HIT0T 3if3em

Andhra Pradesh. Karnataka, Maharashtra. Chhattisgarh and Odisha

3T YC2l, Thellceh, HgRISE, Bigars 3fuT 3ffaem

Question Number : 101 Question Id : 7150532705 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
This city of India has emerged as ‘the Electronic capital of India’
HRAIATCT § ALY "HIATE! Solaclsieh Terellell FUA 3641 3Tl 3Tg.
Options :

Hvderabad
, oGUAG

1.

Amritsar

2. % %



Bangalore

4. v FTAR

Question Number : 102 Question Id : 7150532706 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

‘Solar Insolation’ means
Ao SedielRE {0

Options :

The energy that iz constantly emitted by the Sun

. icar add 3cafoid gromdr Foft

The Solar Radiation received on the surface of the earth

, T qreHmEay ured Seer | fafior

The angle at which the Sun’s rays fall on the earth’s surface

The amount of Solar Energy radiated back into the atmosphere by the earth

. dit Fofd gamT gedican arareRond Wd ad

Question Number : 103 Question Id : 7150532707 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0



The southernmost tip of the Peninsula Plateau is
cdlgsed JoRTd Giaividhale cih g

Options :

Malwa Plateau

Hiaddl Yol

Aravalh Mountains

3Rl gdd

Chota Nagpur Plateau

5 x BT AR TOR

Kanyvakuman

4o l

Question Number : 104 Question Id : 7150532708 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Identify the working capital among the following
@refleTdshl Wopd Hisdel Ho@r
Options :

Tools. machines and buildings

- greret, 7ier 30T sARd



The raw materials and money required

SIETOTT shedr Arel 30T dar

Technology and enterprise

3333?@13’ HITOT 39had

Planning and management

433%3?3{@?&3@%

Question Number : 105 Question Id : 7150532709 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

During these three months, the Tundra regions are almost dark
AT il AfGeaid, €31 I Sldcbotaed 1se Iddl
Options :

May. June and July

H, ofe 10T et
'|_$3 o 3

November, December and January

zyaﬁw.%ﬁmafﬁraﬁaﬁ

March, April and May
5 x A e s H



August, September and October

JHerEe, geeay 3T ey

Question Number : 106 Question Id : 7150532710 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0
The amount of mvisible water vapours present in the atmosphere 1s known as

aTEROT 3%y IUATeAl arhid YT 30l AW S
Options :

Hunmadity

TG

Condensation

5 % W&o

Evaporation

arsyTsde]

Precipitation

4 % T3

Question Number : 107 Question Id : 7150532711 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0



From among the following Group. the countries bigger than India in size are

@reilel TeTdhr, PR IRddeT J16 227 3ed

Options :

Canada, Russia, Thailand and Brazil

- hetar, IR0, eaneis 3foT gefer

Russia, United states of America, Indonesia, Brazil

- TR, JerIes TeeH 3% AN, SR, asie

Australia, Canada, Brazil and United States of America

BJW.W,WNWW%W

Australia, Brazil, China and Indonesia

4% sirectorar, gefer, O 3nfor Ss=femET

Question Number : 108 Question Id : 7150532712 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

In 1774 CE. the representatives from 12 American colonies met at this place to

protest agamnst the British and requested the King George III to restore their

previous rights

1774 CE. 723, 12 3RS augdrd Fiafere e fatrng eer soammer ar
ool

Options:

1. %



Georgla

SArarar

Connecticut

 Felfdeae
2. %

Philadelphia
o

3. ¢

Massachusetts

LYY
T
4. % B

Question Number : 109 Question Id : 7150532713 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

The collection of taxes namely ‘Tithes and Taille’ were asspciated with this
Revolution

T il GRART 0T ¢ AT Y Heboled HTed Bl

Options :

The American War of Independence

3ANE FET ge

1. %

The French Revolution

z_vﬁﬁrﬂ‘cﬁ



The Glorious Revolution

. IaImelr widr

The Russian Revolution

n LTt Fidr

Question Number : 110 Question Id : 7150532714 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

The person who helped Akbar the Great in framing a vision of Governance around

the 1dea of ‘Sulh I Kul’

ST Sl el & dIcell Gog 3 Fel AN Fodeedl I AMAE! TSDI TaN
FOAIT AGd ol

Options :
Jahangir. Akbar's Son

1 s TG, STRERTT o

Tansen of Gwalior

TqTegdl dEde

Abdul Rahim Khan I
.ﬂﬁ_ﬂ Ig H =1 1

Abul Fazal

31l Falel



Question Number : 111 Question Id : 7150532715 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
The seven tombs of the Qutub Shahi rulers marked a unique architectural style

which was a mixture of

ARG AR T ASTAHED U Hefachiy arecielr [degiferet ahell aTell gielr o
T AT g

Options :

Persian and Hindu Style

1.4

(zandara and Hindu Style

Indo-Sarcenic Style

ssr-ardfae el

Indian rock- cut architecture Style

AR Uh-the HTfehedal el

Question Number : 112 Question Id : 7150532716 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0



Rights of a person arrested under ordinary circumstances is laid down in the

AT TR Hedh FUAT 3Meledl Shadm Aehr 7 Gelel 3ed

Options :

Right to Equality
| % gAACET TR

Right to Life and Personal Liberty
5 o Sae 0T JAFTF T SfER

Right to freedom of Speech and Expression
g F P

3ﬁwaﬁﬁm@ﬁﬁmﬂmm

Right to Constitutional remedies

4ﬁmaq$3qrw T

Question Number : 113 Question Id : 7150532717 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

Among the following. identify the incorrect statement regarding the Legislative

Council of Telangana State

@I, oo e faee SRYcaed g e siiearn
Options:

3 members to the Legislative Council are elected from teachers

faemsr 9Rwed 3 deed ReThiFys fHasel sdd

1. %



3 members to the Legislative Council are elected from Graduates

faureT aRwee 3 HeE dednriFEYA fHase sad

16 members to the Legislative Council are elected by the members of the
legislative Assembly

v fererst aiwe™ 16 deEd fumasi=ar deedicar f«ase sirdaid

6 members to the Legislative Council are nominated by the Governor

TemeT 9fiNee 6 erT U=aarel AATAC LT Hidid

Question Number : 114 Question Id : 7150532718 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Among the following, Identify the incorrect statement regarding the Unification of

Germany

@rellerieh, STHHTEdT TehlentuTmarad gehid et itear
Options :

Till 19t century, Germany was divided into number of small kingdoms and
they were part of the Holy Roman Empire
19 =47 odshI9dd, Tl 3ol gl Uodiaed e Aer gid 30T o 9faq

| % UHT HHTTATET HET gid.

Rhine Confederation was formed with 39 kingdoms

5w TS SPleths T TATTAT 39 IT=ATEE SATell




A customs union called ‘Zolloverein’ formulated some trade rules for free

trade. economic cooperation in these kingdoms

‘Zolloverein’ AMICAT HECH Ufeidelel FeFcd AT, TS HgHR AMATE FHIgr

- MR [Fad gar oo

Ems telegram was associated with Austro — Prussian war of 1866

4J@méﬁmlﬁﬁﬁwa‘@-mwaﬁaﬁﬁm

Question Number : 115 Question Id : 7150532719 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
In most of the Spanish ruled countries, all the powers were vested in the hands of

Supreme Council located at

agad Tl MG oAl 7 JfawR 39 o wdfeg aRegzar gt g,
Options:
Berlin

afels

1. %

Lisbon

2. %

Madrid
3. v TS



Paris

Question Number : 116 Question Id : 7150532720 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

According to this, no European power would be allowed to build the colonies in the

American Continents and the United States will not interfere in the affamrs of

Europe or their colonies in other continents

TITHR, HIUTCATE JUTTTe Aercilell AP WAL aligdl arevar! waen &l

FEdaIT TR &TgL.

Options :

Marshal Plan
AT Ahatel

1. %

Munroe Doctrine

2. v FHGH

New Deal Policy
oAdleT 3lel &lIoT

3. %

Carter Doctrine

Y g

4.



Question Number : 117 Question Id : 7150532721 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

The Chinese allowed the Europeans to conduct trade with China through this port
feelt eleplell ZUdr eierielr a1 dearce dierel STIR FYvATH Tawem el
Options :

Port of Shantou

Ml sigt

1. %

Port of Hong Kong

= T T Ela_‘r

Port of Macao

B.me:ﬂ’rm

Rocky harbor

4 % TSFID AT

Question Number : 118 Question Id : 7150532722 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Among the following. these adivasis lived in the forests of Odisha
el § fcarr 3fE=ar Sed Igd aid

Options :



Baiga and Muna

o 3T AR

Koya Reddy’s

PIRIT 1381
2. %

Saora Adivasis

a3t 3feardr

3.¥

Munda Adivasis

saT IR

4, ®

Question Number : 119 Question Id : 7150532723 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

One among the following was NOT the cause for the first world war
@reiteldehl Ush g dfgedl AGIIeard HRUT sdegd
Options :

Militarism caused tension between countries and rivalry as they struggled to

outdo each other as the most powerful

Hegarg@e aur 30T wiaeaell aieara dqune f@#EoT e &Rer o gdid
ATFAATC FEUIT UehAeHlal A CTHUATAIS] HEY T 2l



Imperialism was a motive of making countries stronger and more powerful

which led to tension between countries
HATSIAIG, g1 SRl Aol 30T e el aafauarar gd giar saria
ceraeliel dong =HT0T ST

Alliances were mutual military agreements between nations which led to

tension and rivalry between countries

Il § UL TR SRl R Gld odiHo aeli#edel dqud 30T eFfed gl

3. %

Sinking of American Commercial Ship by German troops

4.JWWWWWW

Question Number : 120 Question Id : 7150532724 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

In October, 1917, the Soviets under the leadership of this party seized power from

the Provineial Government

FHieFelat 1917 Y, AT G&TAT Adcar@lell AlfegUae Ficid FLRs Tl FEciTd

el

Options :

Menshewviks

| w HAAH

Bolzsheviks

- dieifas



The king. Czar Nikolas II
i ol IR feishrerd 11

The Democratic party

 2Hlhfed 9eT
4, %

Question Number : 121 Question Id : 7150532725 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Adolf Hitler assigned the responsibility of economic recovery to this economist
Hsich fReerel a1 JeiRmeA=iay 3+ Furord Saraery Ardeel
Options:

Hjalmar Schacht

| EOEHAR ThET

Wilhelm Ropke

- faeged Udh

Norbert Thorn

3_3331?&%3?@

Alfred Muller Armack

4w3ﬂmﬂmmﬁcﬁ



Question Number : 122 Question Id : 7150532726 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

This person was appointed as the constitutional advisor of the Constitutional
Drafting Committee and he later became the First Indian Judge in the

International Court of Justice n 1950

A AFAell Gellcad Al HA Tdefed TecPIR FurE @ Foard
0T AR o 1950 Hed OIS =Tl gl ARG wararedier aeel.

Options:
Md. Sadullah
- Al @igeel

B.L. Mattal
T @Ader

D.P. Khaitan
LAl Wa=

Sir Benegal Narsing Rao

T A39Te AU 1T

Question Number : 123 Question Id : 7150532727 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0



The term ‘Tsunami’ has been comed from the Japanese words ‘tsu” and ‘name’,

which means
T @1 Ueq; ST 2Aeq ' T A GG AR S 37, S 31 378

Options :

Port and Tide

s HIMOT 8 ar

Ha 1‘bl|:}U.1‘ and waves

dcd 30T &rer

Port and Sea Waves

SIGY JTOT HAGTEAT AT

Port and Ocean Current

d6 AU AGEENR 948

Question Number : 124 Question Id : 7150532728 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0

The International Cricket Council (ICC) was shifted from London to
IAWSET Tohebe ql¥g (ICC) eised JeA gerfduard 3rell
Options:

@atar

1. &



Sydney

ES )
2. ®

Dubaz

v T

Mumbaz

Fad

4. % 2

Question Number : 125 Question Id : 7150532729 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
One among the following was NOT the women members of the Constituent
Aszembly

Welieldehl Ush HeaAl A<l Afgell HGHT dAegcdl

Options :

Sucheta Kriplani

13314%1313 FIAlAT

Sarojini Naidu

s WS g

Durgabai Deshmukh

QIS T
3. %



Annie Besant

4'¢ﬁ?ﬁé§f

Question Number : 126 Question Id : 7150532730 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0
In India, the Government will not be run on the basis of any religion. Citizen will

have complete freedom to follow any religion or no religion at all. It means

AT ATl FUAR fohar o FRoAr o FEIdsT e, A

Options:

India 1s a Sovereign State

HRd T gt T g

India 1s a Socialist State

AR Us JHATGEG Usd g

India is a Republican State

AT Ueh Rafeeied ToT g

India 1z a Secular State

IR U gHAET T 3

Question Number : 127 Question Id : 7150532731 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A



Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
If there are differences between the two houses of the Indian parliament in passing

any ordinary law, then the final decision shall be taken m

AT HHCTAT Gl WHREIHAEY SIVIdTe! AT UG GHI FUIEEd AdHG

Options :

The Lok Sabha only
1 % Wed ollngsr

The Rajya Sabha only
2. % "R A

The joint session of the Parliament

HqHCT HgFd e

The Cabinet meeting headed by the Prime Minister of India

4 v FRCTET STl SRgaidar ARFEsE doh

Question Number : 128 Question Id : 7150532732 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Swami Vivekananda set up the Ramakrishna Mission with these objectives

AT Tadepleiciell AT Iegelel THFSOT [ARCTH FAYAT el
Options :

1. %



To make the people believe 1n one Supreme God and to revive a reformed

Hindu Religion

0T

To make the people engage in Social Work and Social Service for

International Reconstruction

- HIAWSET e TSl iRl AHAISAS F 3107 @Afstd ddd g daor

o revive a reformed Hindu Religion and to engage in Social Work and Soeia
T f d Hindu Relig dt gag o) 1 Work and S 1

Service for national Construction
3, v SR o

To preach ahimsa and to revive a reformed Hindu Religion

. mmmmmmmﬁwm

Question Number : 129 Question Id : 7150532733 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

The Muslim social reformer who started a journal Muallim - e - Niswan for
Writing women's 1ssues

AIEH FATELRE S0 [EFaredr Yeaial oi@s FH0arrs! H3feeld - § - o &
feraceTeli g& dhel.

Options:

Mohib Hussain
1.¢ : g



Abdul Quayvum
o T T

Sir Syed Ahmed Khan

5 x O TG IEAG @ie

Nazar Huszain

L w W@H

Question Number : 130 Question Id : 7150532734 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

It shall be the duty of every citizen to maintain ‘the unity and Soverelgnty of

India’, 1z a

"SI Uehar 31107 @rdsitaca’ T@0 § 9cd® AT Fad a0
Options:
Fundamental Right

TR ST

1. %

Fundamental Duty of a citizen

. R e e

Directive principles of State Policy

- U= RUr Al dod



Economic Right of a citizen of India

4w ARAAT ARTERET S HEFR

Question Number : 131 Question Id : 7150532735 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
By 15t August, 1947, these three princely states had NOT agreed to sign the

‘Instrument of Accession’ with India

15 3fme, 1947 Sd, 1 e SRl SRaEad Seeghc 3% HaoRe ol Wen
FUYTT AT el Hcgd.

Options :

Hyderabad, Kashmir and Jodhpur

Kashmir, Mysore and Hyderabad

5 % FIRHIY, FgEX 30T gediarg

Raipur, Kashmir and Hyderabad

Hyderabad, Kashmir and Junagadh

4 v GG, FRAR 30T SFAEE

Question Number : 132 Question Id : 7150532736 Question Type : MCQ Option Shuffling : Yes



Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0

The Election Commission of India 12 a

HRATET S0 0T &1 378

Options :

Quasi- judicial body

1 % IO e

Judicial body

Autonomous Constitutional body

» T HTEACHT HERT

Statutory body

wwmﬂ

Question Number : 133 Question Id : 7150532737 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

From among the following. identify the country located in the Indian Ocean
@reiTeldehT, fEaT HEMNId 3Hclell qor Haar
Options:

Madagaskar

1.9



Taiwan

2,  [S9FT

Bermuda

TH=T

o }

3. %

Jamaica

) v SR

Question Number : 134 Question Id : 7150532738 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
The rate of GST for Televisions 1s 18%. The maximum retail price of a TV is

Rs. 70800. The amount of Tax to be paid to the Government for purchasing TV 1s

eTolfcgorrarer Sivaerar ¢t 18% 3. Ciegrdl daATel fhteld fhAd 38 5. 70800.
EIeET WETOr TIheT seiedl T A g

Options :

Rs. 12744

3. 12744/ -

Rs. 10800

, » 10800/



Rs. 9000
. 9000/ -

Rs. 14744

g w B 14744/~

Question Number : 135 Question Id : 7150532739 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

One among the following 1s NOT a Characteristic feature of Developing Countries
@relierdehT T fashereiier e dferseaqet dfewea argr
Options:

Having Low Per Capita Income

- clEIe 3o HAT 37T

the problem of Unemployment and underemployment iz observed

5 s ST SAOT 3o RSHI FFEr g 3d

Presence of excessive dependence on agriculture

5 % AR S sidciidcard Saferdr

Having Low growth rate of population

4 v CIRUEIET FAT deET aX

Question Number : 136 Question Id : 7150532740 Question Type : MCQ Option Shuffling : Yes



Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Among the following, the rate of interest 1s higher on these deposits in India

@releldehT, AaTdiel a1 &diay saT=i T 6f aed 3Tg

Options :

Saving Deposits
1 % d9d odr

Current Deposits

5 % qre] ol

Fixed Deposits
Hed ST

Recurring Deposits

., 3Tadt &dr

Question Number : 137 Question Id : 7150532741 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

In India. the biggest commercial bank among the following 1s

Options :

Reserve Bank of India

|« Rereg 9% 3w gfEar



State bank of India

Toe da 3 SfEar
2. ¢

Axis bank

3. % ¥ N

ICICI Bank
4 % ICICIS®

Question Number : 138 Question Id : 7150532742 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

One among the following 1s NOT the function of World Trade organization
@reilerdehl U SARITde ead) Geead & Agr

Options :

It provides monetary support to the developing countries to enable them to

conduct trade freely

& TageTeiier GRIiel HFdIU SATIR FUITH HafH HUIEISN IS HgRd Jald
A

1.¢

It seeks to resolve trade disputes

, ﬁ%wﬁaﬂﬁﬁmﬂmmﬂmm

It acts as a forum for multilateral trade negotiations

.Q%a‘g’qﬂﬂﬁw ACTHIEATST Ush He FgUlA HH Hd

3



1t ensures that trade flows as smoothly, predictably and freely as possible
¢ giARTd Fd I SR A fiderar Hgeice, Ieeierar 30T FFaqol dre]
3e

4, %

Question Number : 139 Question Id : 7150532743 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

By this pohey/commission recommendation, Continuous and Comprehensive
Evaluation (CCE) was made mandatory to introduce in schools as an important
step of examination reforms and for the qualitative improvement in the education
system

1 RO SRR, TH&T GURUIT U Agedrdl Todl FgU[ 37707 fR1870r
AEIAT IR FURUE M@ Wl JT s Ao (W)
oI FOAEIS! JHfelard F0LA el

Options :

National Policy on Education — 1968

- ST fRIGToT 4oT - 19068

National Policy on Education — 1986

- TSR fRIaToT 9lgor - 1086

Secondary Education Commission — 1952-53

3w HAEAfAE fRIRTor T - 1952-53

Indian Education Commaission — 1964-66

4 % AT RIET0T 39T - 1064-66



Question Number : 140 Question Id : 7150532744 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

‘Development of right type of behaviour and conduet’; and ‘skill of finding solutions
to the social problems’ respectively are known as

eI Hled’ FUE AoEd S

Options :

Both are aims

aleer <A 3Med

1. %

Both are objectives

, s O SRR M

Objective, aim

3, w SRR EH

Aim, objective

A3, 3giese

4. &

Question Number : 141 Question Id : 7150532745 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0



Which of the following statement iz NOT TRUE related to merits of spiral
approach?

@reiler i Fvrd e |fder efcaiarear quaned Fafd e
Options:

Content difficulty 1s according to the level of students

. facarzaiear ITadaar arHEll 39us g

Teaching 1s done based on the student’s mental level

- facared=ar ATas Taual Hnfid A $el od

Due to continuous repetition of content retention of concepts In students will

be for long time

AT Tid IeRIHIHD At dehodel Grawio fehe Tgdle

Logical /Rational thinking will not be improved among students

4Jﬁ¢m®uﬁﬂuﬁmfﬁﬁ%ﬁ1ﬁmq¥maﬁma@

Question Number : 142 Question Id : 7150532746 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0
Correct Marks : 1 Wrong Marks : 0

To show the crops grown in a village for one year, this graph is most suitable
TS A1 Ul aNTErdl ddedl [ Sraduarard! g e gdid 49 30
Options:

Pie-graph

- 3l
1.4



Line graph
5 x TN 3eE

Bar graph

AT Tl
3, %

Time-line graph

. e 2 e | o | [ PG

Question Number : 143 Question Id : 7150532747 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Constructivist approach focusses on the following things / aspects

TIATATET ToEleplel @rellel INSETay / Yefay ofal higd dLar
Options:

Developing a situation; Transmitting knowledge; Exhibiting and reflecting

qRERrAT fashad Lo, A FHIT 07, Yeelel 30T wiafde

1. %

Creating situation; making class as a whole; Questioning; Exhibiting and
reflecting

5 s TRIECH foIIOT 0T, WOT 9 qAR T e FaRey; weRler sor gfafd

Developing a situation; Grouping: Questioning; Bridging; Exhibiting and
reflecting

_— giifEercdh faefaa ol acarer: geaT faanor: afser: gegia snfor wfafsa



Knowing familiar situation; Observing; Questioning; Exhibiting and

reflecting

. qRfda IRFEI S0 OOy, 6707 40n; o faarol; geeie i giatdd

Question Number : 144 Question Id : 7150532748 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0
Correct Marks : 1 Wrong Marks : 0

The following tools should be used for Formative Evaluation (FA) at secondary

level

ATATHF FAUR TAAIHT HedAe (FA) HE @relier qrelel dralel! fgord
Options :

Teacher reflections; Children participation; Shp test and project work

- fereTerie gidfeler; Heliar Ggsmr; fEaa araoll 30T geheq &

Children participation; Responses, Children's written work; Project Work and
Slip /written test

, waqﬁmwﬁf@amwmmwmaw

Portifolios; Project work; Children responses and Ship test/ written work

- QICHITe3M; Yehed T, Helid Fidrg 3for o arofl/ ordr

Teacher observations; Children participation; Responses and project work

4 % RIS EET0T, Foar e, Iidae T Sehed F



Question Number : 145 Question Id : 7150532749 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0

Which of the following statement is NOT one of the advantages of social sciences?

@reilerddhT FIoT [aeneT AraToie faAeTedr Fredis T g

Options :

Social sciences provide education for effective citizenship

AT M T AR hcaraer 2870 ¢ara

1. %
Social sciences help m the development of values needed for democratic
socialism and secularism
R 1P T O o | o S | o B Pl | o 10 I P P T R ) G R e
5y |9PRIRT Aed FCId
Social sciences are helpful in developing language skills
. HATSIH ATEA AN Hiercd Taehfdd HoarEdl 3uged Hed
Social sciences are useful in developing awareness about the problems of the
aoclety
4 % HATATT ;H;Jﬂrq]qm SISl AT W oATaE Q]'Iﬁ w_, :_H.I%H

Question Number : 146 Question Id : 7150532750 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0



Study of biographies of social reformers, freedom fighters ete develops this kind of
values among students

AR, Fc>adifee Scagear aiEmr 3w facardiaed ser g #ed
fasrfad el

Options :

Inspirative values

Qo Hedr

1.4

Interpretative values

AT Hod

Vocational values

AR Hed

Disciplinary values

IFRIRATCHE Hed

Question Number : 147 Question Id : 7150532751 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

This active verb comes under procedural knowledge level and remembering

category of cognitive process dimension

¢ iR TRTe YRR A OTda 30T el WigaT UREATT FE Squaredr

Al siada Ad

Options :



Tabulate
arofl

1.4

Clasaify

z_wa?ﬁa?mw

Explain

3 % qeC T

Summarise

xSRI

Question Number : 148 Question Id : 7150532752 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

Which of the following statement 1s NOT TRUE related to psychological principles

of teaching

el HTd T eaTTeTedr AMEAET doail gafed A

Options :

Principle of variety

| TR G

Principle of motivation

HET 9]
2. % =



Prineiple of progressiveness

AT ded
3.¢

Principle of recreation

, w TR A

Question Number : 149 Question Id : 7150532753 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0
‘The gazette extract published in news papers’ and ‘Judgements of courts’ are this

kind of sources respectively
FATA STHCy Felcl TSI’ 30T SRR e § 3lhad A1 YR i AR,
Options :

Primary source, Secondary source

SIS Wi, g2 did

1. ®

Secondary source, Primary source

, & A, JrfHs i
2. il

Both are primary sources

- clegr grafAs @ia 3gd

Both are secondary sources

L x el gZIA Hid Hgd



Question Number : 150 Question Id : 7150532754 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
In this phase of concept mapping, students find out new illustrations by thinking

and get complete understanding on various things
HeheTell I A1 eownd, fagamll faur wee adie 3qigeor Aieidid 3for fafdy

Options :

Phase-I; presentation of abstraction

Pal-1; 3 AU

Phaze-IV: closure

thel-IV; 9Raamedr

Phage-II; propositional phase

thel-11; 9&difad codr

Phase-III; application

thal-I11; 39Tt



